
VOLODIN K-theory

Yol(A)= VBTS (A)- BEL(A)
where :

s are linear orders on 51 , 2 , 3, ... 3
To (A) = G(j))Gy=ij unless i <j)

Thus
-

Vol(A) -> BGL(A) + BGL(A)+

is a homotopy fiber sequence.

#allowsfrom :

① (Vol(A)) = St(A)

② , (VollA)) acts on Th(VolAll

trivially for >1.

③ Hu(vol(A)) = 0 , n > 0 .
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changing notation to

u= Te,%(i) = Te
"

:

is I is I T(il ,Plil+1

% it = Ad((i% π) . iP)
(from the cour, above Hu(Tal
The action on homology : ↑m

K

1 Hi Tule(TaHu(Tu)+ Hi (Th X Hailin
i=

↑is 14
b Hy (Th)H, (Ta)
in K

same as actsbyheion in
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-- i = 0 ↓ bit

In other words :
Hr(in) Hi(N)Hui(ta)

byHi(Tu) Hi(TN) are SAME ; it o Hi (TN)










